as Freeman TV 70566 า//

	Special Meeting	http://citylf.cloudaccess.net/en//
	~ Agenda ~	
Wednesday, July 1, 2020	11:00 AM	City Hall

NOTICE IS HEREBY GIVEN THAT THE CITY COUNCIL OF THE CITY OF LOS FRESNOS PURSUANT TO CHAPTER 551, TITLE 5 OF THE TEXAS GOVERNMENT CODE, THE TEXAS OPEN MEETINGS ACT, WILL MEET ON WEDNESDAY, JULY 1, 2020 AT 11:00 AM AT CITY HALL, 520 EAST OCEAN BLVD., LOS FRESNOS, TX 78566.

To watch the Los Fresnos City Council meeting live, visit the City of Los Fresnos YouTube channel here:

https://www.youtube.com/channel/UCM586ihF_ubb7Kz4aqFCBKQ or our website www.cityoflosfresnos.com

To participate in the Visitors Remarks portion of the meeting, download the participation form from www.cityoflosfresnos.com or request a copy at City Hall drive through. Please submit your form by 9:00 a.m. on Wednesday, July 1, 2020 to jmoya@citylf.us. City staff will contact you providing instructions for commenting.

AGENDA

Roll Call

Invocation and Pledge of Allegiance

VISITORS REMARKS-TO SPEAK YOU MUST SIGN IN WITH CITY A. **SECRETARY PRIOR TO THE MEETING AND YOU HAVE A LIMIT OF 5 MINUTES TO SPEAK.**

ACTION ITEMS B.

1. Discuss, consideration and action to accept construction bids received for the TxCDBG 7219037 street improvement grant and award a construction contract.

ADJOURNMENT С.

This is to certify that I, <u>Jacqueline Moya</u>, posted this agenda on the front bulletin board of the City Hall on <u>June 27, 2020</u> on or before <u>5:30</u> p.m. and it shall remain so posted continuously for at least 72 hours preceding the scheduled time of said meeting.

Jacqueline Moya, City Secretary

Persons with any disabilities that would like to attend meetings must notify City Secretary 24 hours in advance so that the City can make arrangements for that disabled person.

SCHEDULED

Meeting: 07/01/20 11:00 AM Department: City Secretary Category: Grant Prepared By: Jacqueline Moya Initiator: Jacqueline Moya Sponsors: DOC ID: 3506 A

ACTION ITEM (ID # 3506)

Discuss, consideration and action to accept construction bids received for the TxCDBG 7219037 street improvement grant and award a construction contract.

Bids came in very good. Attached is the bid tabulation along with a recommendation from Hanson Professional Services.

I recommend approval of the bids and awarding a contract to G & T Paving fore the base bid on West 10th Street and the Alternate bid for Whipple road totaling \$190,097.28 for TxCDBG Contract Number 7219037.



Hanson Professional Servic 789 E. Washington St. Brownsville, Texas 78520 (956) 541-1155 Fax (615) 871-8013 www.hanson-inc.com B.1.a

June 26, 2020

Mark W. Milum City Manager 520 E. Ocean Boulevard Los Fresnos, Texas 78566

RE: CITY OF LOS FRESNOS 2018 CDBG DISASTER RELIEF PROJECT

Mr. Milum:

Bids were opened for the above referenced project on Thursday, June 25, 2020 at the Los Fresnos City Hall. Five (5) bids were received with G & T Paving, LLC of Brownsville, Texas being the apparent low bidder with a combined base bid amount of \$182,787.88.

An Alternate bid was provided for reconstructing the entire section of Whipple Road as a substitute for the base bid. The bid submitted by G&T Paving for the base bid on West 10th Street and the alternate bid for Whipple Road was also the lowest submitted bid at \$190,097.28.

We have reviewed the bids for accuracy and find that all the documentation is in order. Attached for your review and record is a copy of the project bid tabulation which summarizes the bids received for each contract submittal.

Hanson Professional Services, Inc. has reviewed the information submitted by all bidders and has verified the experience references provided by the low bidder. It is our opinion that the low bid is a fair and reasonable cost for the value of the work to be constructed, and that G&T Paving, LLC. is qualified to perform the required work.

The CDBG grant budget available for construction is \$315,000.00. Therefore, we hereby recommend award of the contract to G&T Paving LLC. in the amount of \$190,097.28. Should you have any questions or require any additional information, please do not hesitate to contact us.

Sincerely,

Hanson Professional Services Inc.

Richard A. Riggins, P.E., R.P.L.S. Project Engineer

Encl.

G
ш
C
9
350
õ.
$\tilde{}$
2
8
$\overline{\Sigma}$
721
12
ē
þ
Ľ
2
<u> </u>
Q
a
Ð.,
2
ŭ
÷.
S.
e
Š
Ó
5
ž
Ξ.
J.
. <u>₩</u>
Ø
5
e
5
ast
isast
disast
N disast
ON disast
FION disast
ATION disast
LATION disast
ULATION disast
BULATION disast
ABULATION disast
E.
E.
D
E.
D
D
D
D
D
D
D

DESCRIPTION												
			G&T PAVING LI	NG LLC	JIMMY CLOSNER & SONS	VER & SONS	PEDERSON CONSTRUCTION CO.	STRUCTION CO.	FOREMOST CONSTRUCTION	NSTRUCTION	J CARROLL W	J CARROLL WEAVER , INC.
EAST 10TH STREET ARROYO BLVD TO END	QUANT.	UN.	PRICE	TOTAL	Price	Total	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
Intall 2" HIMAC Type "D" Asphalt Pavement w/ MC-30 Prime Coat	6153	SΥ	\$12.99	\$79,927.47	\$12.70	\$78,143.10	\$13.75	\$84,603.75	\$15.00	\$92,295.00	\$19.00	\$116,907.00
Scarify and Mill and Pulverize/ Mill Existing Base add 1% Lime and additional Limestone	6153	SΥ	\$7.20	\$44,301.60	\$7.00	\$43,071.00	\$7.99	\$49,162.47	\$11.00	\$67,683.00	\$19.00	\$116,907.00
Replace 24" Wide Curb and Gutter	543	LF	\$12.99	\$7,053.57	\$11.40	\$6,190.20	\$18.00	\$9,774.00	\$27.00	\$14,661.00	\$31.00	\$16,833.00
4" Concrete Driveway Repair	664	SF	\$4.99	\$3,313.36	\$9.00	\$5,976.00	\$6.25	\$4,150.00	\$11.00	\$7,304.00	\$7.70	\$5,112.80
Remove Existing Curb and Gutter	543	Е	\$1.25	\$678.75	\$5.00	\$2,715.00	\$2.50	\$1,357.50	\$10.00	\$5,430.00	\$4.40	\$2,389.20
Remove Existing Conrete Driveways	664	SF	\$1.99	\$1,321.36	\$4.00	\$2,656.00	\$2.50	\$1,660.00	\$9.00	\$5,976.00	\$2.20	\$1,460.80
Storm Water Pollution Prevention Plan		rs	\$500.00	\$500.00	\$3,200.00	\$3,200.00	\$3,500.00	\$3,500.00	\$8,500.00	\$8,500.00	\$4,950.00	\$4,950.00
SUBTOTAL EAST 10TH STREET				\$137,096.11		\$141,951.30		\$154,207.72		\$201,849.00		\$264,559.80
WHIPPLE ROAD												
Remove Existing Base And AsphaltSurface Coarse	952	sΥ	\$3.50	\$3,332.00	\$5.00	\$4,760.00	\$4.75	\$4,522.00	\$14.00	\$13,328.00	\$14.50	\$13,804.00
Remove Existing Concrete Driveways	416	SF	\$1.99	\$827.84	\$4.00	\$1,664.00	\$2.50	\$1,040.00	\$9.00	\$3,744.00	\$2.20	\$915.20
Remove Existing Caliche Driveways	126	SF	\$1.00	\$126.00	\$3.00	\$378.00	\$2.50	\$315.00	\$12.00	\$1,512.00	\$4.40	\$554.40
Scarify and Pulverize/ Mill Existing additional 1% Lime and Limestone Base	394	SY	\$7.80	\$3,073.20	\$7.00	\$2,758.00	\$7.99	\$3,148.06	\$20.00	\$7,880.00	\$19.10	\$7,525.40
Install 2" HIMAC Type "D" Surface Course w/ MC-30 Prime Coat	1189	SY	\$13.25	\$15,754.25	\$12.70	\$15,100.30	\$13.75	\$16,348.75	\$20.00	\$23,780.00	\$24.00	\$28,536.00
Install 6" Limestone Base	952	SY	\$13.50	\$12,852.00	\$14.70	\$13,994.40	\$9.50	\$9,044.00	\$20.00	\$19,040.00	\$41.00	\$39,032.00
Install 6" Lime Treated Sub-grade	952	SY	\$6.99	\$6,654.48	\$8.15	\$7,758.80	\$5.80	\$5,521.60	\$9.00	\$8,568.00	\$18.00	\$17,136.00
Install 4" Concrete Driveway Replacement	416	SF	\$4.25	\$1,768.00	\$9.00	\$3,744.00	\$6.15	\$2,558.40	\$13.00	\$5,408.00	\$7.70	\$3,203.20
Install 4" Caliche Driveway Replacement	126	SF	\$4.00	\$504.00	\$5.00	\$630.00	\$1.90	\$239.40	\$22.00	\$2,772.00	\$2.20	\$277.20
Storm Water Pollution Prevention Plan	+	rs	\$800.00	\$800.00	\$1,700.00	\$1,700.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$4,950.00	\$4,950.00
SUBTOTAL WHIPPLE ROAD IMPROVEMENTS		_		\$45,691.77		\$52,487.50		\$45,737.21		\$91,032.00		\$115,933.40
TOTAL BASE BID				\$182,787.88		\$194,438.80		\$199,944.93		\$292,881.00	~	\$380,493.20
WHIPPLE ROAD ALTERNATE BID										1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1		
Remove Existing Base and Asphalt	1226	SY	\$3.25	\$3,984.50	\$5.00	\$6,130.00	\$4.75	\$5,823.50	\$13.00	\$15,938.00	\$2.20	\$
Remove Existing Concrete Driveway	416	SF	\$2.25	\$936.00	\$4.00	\$1,664.00	\$2.50	\$1,040.00	\$9.00	\$3,744.00	\$2.20	\$915.20
Remove Existing Caliche Driveway	126	SF	\$1.00	\$126.00	\$3.00	\$378.00	\$2.50	\$315.00	\$13.00	\$1,638.00	\$4.40	\$554.40
Install 2" HMAC Type "D" Surface Coarse w/ MC-30 Prime Coat	1308	SY	\$12.99	\$16,990.92	\$12.70	\$16,611.60	\$13.75	\$17,985.00	\$16.50	\$21,582.00	\$23.00	
Install 6" Crushed Limestone Basr	1427	SΥ	\$13.08	\$18,665.16	\$14.70	\$20,976.90	\$9.50	\$13,556.50	\$20.00	\$28,540.00	\$50.00	\$71,350.00
Install 6" Lime Treated Sub-grade	1427	SΥ	\$6.25	8,918.75	\$8.15	11,630.05	\$5.80	\$8,276.60	\$9.00	12,843.00	\$23.00	\$32,821.00
Install 4" Reinforced Concrete Driveways	416	SF	\$4.99	2,075.84	\$9.00	3,744.00	\$6.25	\$2,600.00	\$13.00	5,408.00	\$7.70	\$3,203.20
Install 4" Caliche Driveways	126	SF	\$4.00	504.00	\$5.00	630.00	\$2.00	\$252.00	\$22.00	2,772.00	\$16.50	\$2,079.00
Storm Water Pollution Prevention Plan	-	LS	\$800.00	\$800.00	\$2,200.00	\$2,200.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$4,950.00	\$4,950.00
				¢E2 004 47		¢62 064 66		¢E2 240 60		¢07 465 00		¢148 664 00
				11.100,004		00-too'oot		00:000 foot		perpet i pat		
TOTAL WEST TENTH STREET RASE RID + WHIPPI E ROAD ALTERNATE RID				\$190.097.28		\$205.915.85		\$207.556.32	0	\$299.314.00		\$413.213.80